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For questions 1 - 3, use the graphs A, B, and C; which represent a car traveling on
a straight east-west highway. East is considered the positive direction. At the start,
the car is traveling west at a constant 60 mph. When it reaches the town limits, it
slows down to 30 mph and continues at that speed until it reaches the west end of
town, at which point it speeds up quickly to 60 mph and maintains that speed.

1. Which graph best represents the velocity of the car as a function of time?
c A. Graph A
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¢ B. Graph B
< C. Graph C
 D. none of the above

2. Which graph best represents the acceleration of the car as a function of time?
c A. Graph A
»B. Graph B
« C. Graph C
¢ D. none of the above

3. Which graph best represents the position of the car as a function of time?
% A. Graph A
c B. Graph B
« C. Graph C
« D. none of the above

4. What must a quantity have in order to be a vector? (there may be more than one
answer)

F A. magnitude

™ B. a constant value
¥ C. direction

™ D. a changing value

5. A boat propels itself relative to the river water at 3 mph North. The river current
is 4 mph West. The magnitude of the boat's velocity (relative to the shore) is
c A. -1 mph
¢ B. 1 mph
¥ C. 5 mph
c D. 7 mph
¢ E. none of the above

6. Vector A has a magnitude of 10. Vector B has a ma
of the vector sum of A and B is
cA. 17
cB.3
cC.-3
© D. between 17 and -3
® E. none of the above

gnitude of 7. The magnitude
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Use the vector diagrams to answer questions 7 - 9.

7. Which vector (of vectors A, B, and C) is a resultant of the other two?

¢ A. vector A
¢ B. vector B
c C. vector C
c D. all of the above
¢ E. none of the above

. 8. Of vectors D, E, F and G; which have negative y components?
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" A. vector D
I~ B. vector E
[~ C. vector F
™ D. vector G

9. Which sum of vectors would have the resultant with the largest magnitude?

¢ A. Vector D + vector E + vector F + vector F
) « B. Vector G + vector E

« C. Vector G - vector D

« D. Vector G + vector F + vector E

c E. Vector G

10. To find the magnitude of a vector

« A. calculate the sum of its components

« B. calculate its direction
& C. calculate the square root of the sum of the squares of its components

¢ D. divide the vector by a unit vector
¢ E. none of the above
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